2023FE ZEB%®

_BE =Ly
300 m KiE 0% 300 m i 0%
300 i WAk ey 300 mi LAk 59
0
o 2,000 m X ’ 5 2,000 m K
2,000 m Ll E 339, 2,000 m LAk 0%
0
10,000 m K ’ 10,000 m K
10,000 m LAk 0% 10,000 m LAk 50%
300 m KiE 0% 300 m i 0%
300 i KAk ey 300 mi LAk 5o
0
—— 2,000 m X ’ BE ki 2,000 m K&
Foli2 Zz .
2,000 m Ll E 0% 2,000 m Ll E 0%
0
10,000 m K ’ 10,000 m K
10,000 m LAk 0% 10,000 m LAk 0%

KA AHT—

FTOMN—bF—X



20235 E ZEBY ) —XEM&E
O %5
ZEBY 1) —X
ik FZEBI Nearly ZEB ZEB Ready ZEB Oriented &&t
55 [#%] [#%] [#%] [#%] [#%]
300ni sk 0 0 0 - 0
S 300m B4 E 2,0005 % 0 0 0 0
2,000n7LLE 10,0005k % 0 0 1 - 1
10,000 4 £ 0 0 0 0 0
ZEBY 1) —X
s [zEB] Nearly ZEB ZEB Ready ZEB Oriented a&t
Bk 4] [4] [4] [4] [4]
g 300ni ki 0 0 0 - 0
5 300niLLE 2,000 0 0 0 0
2,000niLLE 10,0005k % 0 0 0 - 0
10,0007 L £ 0 0 0 0 0
L J= Y
ZEBL ) —X
B [ZEBJ] Nearly ZEB ZEB Ready ZEB Oriented ait
b [##] [#] [#] [#] [#]
300mi ki 0 0 0 - 0
S 300m LA £ 2,0005k % 0 0
2,000niLL_E 10,0005k % 0 0 0 - 0
10,000m A £ 0 1 0 0 1
ZEBL ) —X
B [ZEBJ Nearly ZEB ZEB Ready ZEB Oriented it
5% [#] [#] [#] [#] [#]
E; 300mik it 0 0 0 - 0
© 300niLLE 2,000 0 0 0 0
2,000niLL_E 10,0005k % 0 0 0 - 0
10,000m LAk 0 0 0 0 0

K=t AHT7—FTIM—F—X



[5#] 2022~20234&F &

ZEBL ) —XEHFERE

&%t
ZEBL 1) —X
His [ZEBJ Nearly ZEB ZEB Ready ZEB Oriented &5t
P [£] [#%] [#%] [#%] [#%]
300mik i 0 0 0 - 0
% 300m LAE 2,000k 2 0 0 2
2,000 AL 10,0005k i#% 0 0 3 - 3
10,000 L1 £ 0 0 0 0 0
ZEBL1)—X
i [zEB] Nearly ZEB ZEB Ready ZEB Oriented a&t
$Zf [#] [#] [#] [#] [#]
EZ 300m ki 0 0 0 - 0
= 300niLL L 2,000k 5% 0 0 0 0
2,000 AL 10,0005k i#% 0 0 0 - 0
10,000 L1 £ 0 0 0 0 0
YL
ZEBL 1) —X
B [ZEBJ] Nearly ZEB ZEB Ready ZEB Oriented ait
P [#] [#] [#] [#] [#]
300k 0 0 0 -
£ 300m LAk 2,0005k i 0 1 1
2,000 AL 10,0005k % 0 0 1 - 1
10,000 LA 0 1 0 0 1
ZEBL 1) —X
B [ZEBJ Nearly ZEB ZEB Ready ZEB Oriented it
5% [#4] [#] [#] [#] [#]
E; 300mik 0 0 0 ; 0
& 300miEA L 2,000k 5 0 0 0 0
2,000n LAk 10,0005k % 0 0 0 - 0
10,000 LA E 0 0 0 0 0

K=t AHT7—FTIM—F—X



